
125 SUPERMOTO 100 2001 <2001><EU><110315>
IGNITION SYSTEM

32272

Pos Part Number Description Additional Text Quantity

3 50339005200 FLYWHEEL KOKUSAN 2K-3 '98 125-200 EXC-EU 1.00

6 50339004200 STATOR KOKUSAN 2K-3 '98 125-200 EXC-EU 1.00

7 0015050163 HH COLLAR SCREW M 5X16 WS=8 3.00

10* 51239031000 CDI UNIT 2K-3 125EXE 2000 1.00

12 50339006000 IGNI.COIL KOKU. IG5127 1.00

15 50311034000 VOLTAGE REGULA. 12V 125-200'98 125-200 EXC-EU 1.00

16* 51139093010 SPARK PLUG NGK BR8HS 1.00

17 54531010000 SPARK PLUG CAP LB05EMH N 1.00

18 0770150040 O-RING 15,00X4,00 NBR 70 125 1.00

20 0015060163 HH COLLAR SCREW M 6X16 WS=8 FE, FS 2.00

21 0014060203 HH COLLAR SCREW M 6X20 WS=8 2.00

22 0015060120 HH COLLAR SCREW M 6X12 W.LOC 1.00
* = New part


